DUNCAN MODEL DA 820-8 A

>

\1/ 2 oee

PART
NO. DESCRIPTION

KM 326 4600 REPEIAT CYQUL TIMER (2¢W/m
KN&Z&‘&OF\X{DNTBNALTNCR(Z

KN 324 POWER RELAY (240/22
KE 314 $8-32 X \/rtufc Wécm
KE 322 §6 STAR WASHER
xz :m 6-32 HEX NUT
1 X $° FPBERGASS SLEEVING
m uz 20,1020/28 CORD SYRAN RELIEF
KE 307 #8-32 X 1 1/4° WACHNE SCREW
10, KE 329 $8-32 HEX NUT W ER
11, KE 096 2 POLE TERMINAL
12. KC 309 STATDARD BUSS BAR ASSEMBLY
13, KC 310 U-TERMINAL ASSEMBLY
14, KE 15 $10-32 X l/r TAMPERPROOF SCREW
18. KL 32¢ $10-32 MEX W /WASHER
16, KM 309 UD SAFETY
17. KM 363 UOD SWITCH MOUNTING KIT
18. KL 060 INSULATOR
15, KM 323 320-7/8. 1020 POWER SUPPLY CORD
KM 300 INFWITE SWITCH W/PAL NUT (240/220¥)
KM 362 CAPACITOR ms Y gz
KC 167 6 gtscw? WIRE, 16 GAUOE
€ couao 1€ c.wc
KC 190 6.8 WIRT COMBO. 16 GAUGE
KC 131 & ? CONNECTING WIRL, 16 GAUGE
XC 194 ALO WBLY
XC 139 ¥ (23cm) coun:c'nuc WIRE, 12 GAUGE
XM 069 TIMCR MOTOR, 30MHZ
KC 178 14°(25cm) COMNECTING WIRE, 12 GAUGE
KC 150 9°(23crm) GROUND WARE
KC 169 10" (25cm) CONNECTING WIRE, 16 GAUGE
KC 177 € (15cm) CONNECTING WRE, 12 CAUGE
KC 138 14’ (J0om) CONNECTING WIRE, 12 GAUGE
KE 095 T—-TERMINAL ADAPTER
KE 107 TERMINAL BLOCK ASSEMB
KC 061 DIELECTRIC INSULANON ron KE 101
XC 173 8,4 WRE COMBO, 16 GAUGE
XM 381 ) POSMON SWITCH

BENGRELN=- 8a

KUEBFLRZEIPNIRRERTE

g

CONTROL PANEL PARTS

\b@ \J
()
® g

X
i SR

Y 135

A

.
&

I X 1.1
¥

060630 .8

ELECTRICAL SCHEMATIC

SAFETY

0001900

" R $
- H
——- | (85 )
) Ll
< Ve @
L 2 — E
ra — ] .
L :
E r"l ge -
: it R
oL " “235
e sy “gg
- KD0025
Lxsa2




